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The recurrence for the combinatorial class T is given by

T = Z + Z × T × T + Z × T × T × T
T (z) = z(1 + T (z)2 + T (z)3)

We can show that this is an invertible tree class with φ(z) = 1 + z2 + z3. First of all, φ clearly has nonnegative
coefficients and is entire. uφ′(u) − φ(u) = 2u3 + u2 − 1, and as a cubic polynomial must have a real root λ. In
particular, since this polynomial goes to positive infinity as u increases and it evaluates to -1 at 0, by IVT it has a
positive real root λ ≈ 0.657298. Therefore this is an invertible tree class, and by the transfer theorem

[zn]T (z) ∼ 1√
2πφ′′(λ)/φ(λ)

(φ′(λ))NN−3/2

=

√
λ3 + λ2 + 1

2π(2 + 6λ)
(2λ+ 3λ2)NN−3/2

≈ 0.214358 · 2.61072NN−3/2
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